CHAPTER 18 APPLICATION

One often finds that before, during and after organisational mergers, lay-offs, and changes in work systems some employees have difficulty in accepting such interventions. It seems that such employees cannot or do not want to make the necessary “mind shifts”. The concept/s which cognitive psychologists use to explain this scenario where some employees experience possible conflicting feelings and thoughts when cognitions in a particular construct contain opposite meanings is/are known as ______.
A. cognitive unity
B. cognitive dissonance
C. equity and homeostasis
D. suspended constructs
Answer Key: B

One of your friends is implicated in a theft and you react by using several constructs to interpret the situation, such as guilty versus not-guilty; hearsay versus fact; isolated incident versus common occurrence; framed versus guilty; good versus bad. This indicates the use of ______ in the C-P-C cycle of cognitive theory.
A. circumspection
B. pre-emption
C. control
D. choice
Answer Key: A

With regard to ideas in cognitive psychology, it is more constructive and accurate to assess employee and managerial competencies and potential by using assessment instruments which evaluate ______.
A. cognitive modifiability
B. cognitive control in performance
C. performance after training in verbal and numerical training
D. circumspection and control
Answer Key: A

Bruce believes that shopping is boring. However, when the girl he has a crush on invites him to help her shop for Christmas presents, he decides it might be fun. What does George Kelly call this phenomenon?
A. Cognitive dissonance
B. Constructive alternativism
C. Preverbal constructs
D. Fundamental postulate

In cognitive psychology concepts such as schemata, constructs, precepts, images and plans are used to refer to the ______ of personality.
A. development
B. structure
C. motivation
D. adjustment
Answer Key: B

According to the cognitive perspective, motivation is based on ______.
A. the reduction of drives to ensure favourable outcomes
B. the balancing of unconscious instincts and societal norms
C. the amount of challenge involved and the personal value of a situation
D. the monetary rewards involved and the prevention of punishment
Answer Key: C

When pleasure is described as mastering a new experience, the ______ perspective is used.
A. behaviourist
B. humanist
C. cognitive
D. psychodynamic
Answer Key: C
Lisa enjoys science at school and she has built up a large knowledge base of this subject. In cognitive psychology, this is referred to as ______.
A. semantic memory
B. episodic memory
C. auditory images
D. visual images
Answer Key: A
Based on cognitive psychology, which one of the following explanations best describes the status of a person’s psychological maladjustment?
A. A person may have available several constructs available to help them cope and adapt.
B. A person may have a repertoire of core roles which he/she can use in different situations
C. A person regularly evaluates their way of thinking and may discard some of their constructs.
D. A person’s meanings systems do not have a sufficient range which leaves them unable to cope and predict the future.
Answer Key: D

An employee believes that he has better qualifications, more experience and performs better in his job compared to a colleague who has been promoted to a managerial position above him without any explanation by management. Which action from the following options do you think will arguably best decrease this employee’s cognitive dissonance?
A. The employee will only work harder to perform even better in order to prove his point.
B. He will bring complaints of unfair labour practice against the management.
C. The employee will not perform up to his usual standards or what is expected of him.
D. The employee will congratulate the colleague and continue working as per usual.
Answer Key: C

Which one of the following relates to a cognitive approach to personality?
A. Emphasises a subject's perceptions of experiences, especially how these experiences are construed and forms his or her interpretations of things.
B. Emphasises the unconscious meaning that people ascribe to events, not simply the objective events themselves.
C. Attempts to understand an individual in his or her fullness, rather than only selected aspects of the person relevant to a small number of traits.
D. Emphasises a subject's conscious experiences of the events she or he experiences in everyday life.
Answer Key: A

Personality, according to cognitive psychologists like Kelly, is ______.
A. characterised by various personal constructs and how they are used to understand the world and others in order to anticipate and predict future events.
B. made up of a number of personal constructs which form the core of the self or personality.
C. defined as the core roles a person assumes or that is given to him/her by others.
D. recognisable and determined by the enduring consistency and validity of personal constructs in order to cope with life’s requirements.
Answer Key: A

Management wants to establish a new performance management programme. According to cognitive perspectives a prerequisite/s for the success of such a programme will be ______.
A. the upwards shift of control in the hierarchy
B. general salary increases for all employees irrespective of performance
C. the upwards shift of decision-making in the hierarchy
D. moving control and decision-making down in the hierarchy
Answer Key: D
You regularly consult with companies on the advantages of cross-cultural learning for all employees and you have found that on ethnic, sexist and racist issues many employees across groups find it difficult to develop more flexible attitudes. In terms of cognitive assumptions one can understand this phenomenon best by applying the assumptions of the which one of the following constructs as proposed by Kelly?
A. Pre-emptive constructs as they do not allow much new information
B. The choice corollary because it enables people to use their freedom to act as they prefer.
C. The organisation corollary in which these issues may be superordinate for some people.
D. The range corollary which makes it difficult for individuals to include new or change existing schemata.
Answer Key: A

Most or all of people’s meaning systems allow them to compare both sides of information which refers to the ______ construct, while an event encountered by a person which he/she cannot or does not want to explain or give meaning to is described as a ______ construct.
A. propositional; constellatory
B. constellatory; propositional
C. dichotomy; suspended
D. suspended; dichotomy
Answer Key: C

The construct that allows flexible thinking as it allows individuals to be included in more than one group at a time is called ______ while the construct that prevents reintegration of new information in order to place individual in only one group is called ______.
A. propositional; range
B. constellatory; pre-emptive
C. pre-emptive; constellatory
D. range; propositional
Answer Key: B

According to cognitive psychologists, what explains some differences in thinking and behaviour in sub-cultures and between and across cultures?
A. Collective differences of genetic influences which determine certain experiences.
B. The fact that people in groups form certain pre-determined relationships which will influence meaning systems.
C. Meaning systems formed in peoples’ collective personal and historical experiences.
D. The impact of macro political and socio-economic influences.
Answer Key: C

You know that your colleague has many mixed feelings and also mixed responses towards her supervisor. It varies between very positive feelings of liking to mostly more negative feelings of dislike, but she cannot express her real cognitions and feelings, because she likes her work and she does not want to find alternative employment. According to cognitive psychology, this scenario is arguably best explained by the presence of ______ constructs.
A. submerged
B. preverbal
C. peripheral
D. repressed
Answer Key: A

Which one of the following statements point to strong influences which can lead to the manifestation of depression, according to cognitive psychology?
A. Suicide is often a factor and accelerates depressive and manic feelings.
B. Too much attention is given to too many stimuli from the environment.
C. Events are interpreted as very serious and negative emotions are emphasised.
D. Depression causes people to perceive that they are not loved and appreciated.
Answer Key: C

The construct that allows flexible thinking as it allows individuals to be included in more than one group at a time is called ______ while the construct that prevents reintegration of new information in order to place individual in only one group is called ______.
A. propositional; range
B. constellatory; pre-emptive
C. pre-emptive; constellatory
D. range; propositional
Answer Key: B

Why, according to cognitive psychologists, do people experience psychological adjustment problems?
A. They cannot solve conflicts from their past traumatic experiences.
B. Their ways of thinking are not applicable to more or all situations and events.
C. They rely too much on defence mechanisms and C-P-C cycles.
D. They do not receive support and their basic social needs are not satisfied.
Answer Key: B

One of your friends is implicated in a theft and you react by deciding not to make a judgement until enough information has been collected. This indicates the use of ______ in the C-P-C cycle of cognitive theory.
A. circumspection
B. pre-emption
C. control
D. choice
Answer Key: C

The top management of a company wants to establish a new performance management programme. According to cognitive perspectives a prerequisite for the success of such a programme will be ______.
A. the upwards shift of decision-making in the hierarchy
B. low levels of challenge for all role players in the programme
C. that all employees "buy into" the system and participate in decision-making
D. the upwards shift of control in the hierarchy
Answer Key: C

A person may be intolerant towards people speaking a different language, or having a different religion, or not following certain customs. However, as that person grows older, he/she realises that people have more commonalities than differences, and becomes more accepting or understanding of the forces in a situation, and adjusts his/her construct accordingly. This is an example of a construct becoming ______.
A. rigid
B. permeable
C. habitual
D. unyielding
John changed his opinion about how to restructure his department after receiving new information on job satisfaction in the organisation. John is influenced by the ______
construct.
A. propositional
B. constellatory
C. pre-emptive
D. cognitive
Answer Key: A

During an exit interview an employee describes the strong points and weak points of the organisation and his supervisors. Using Kelly's ideas on personal constructs, the employee's perceptions can be explained by the ______ corollary.
A. fragmentation
B. choice
C. range
D. dichotomy
Answer Key: D

When someone who smokes tries to rationalise their habit by ignoring information relating to the negative effects of smoking and looking for positive beliefs related to smoking, it can be described as a motivating force known as ______.
A. cognitive dissonance
B. a fundamental postulate
C. constructive alternativism
D. a core construct
Answer Key: A
According to cognitive psychologists important aspects of motivational behaviour in people include ______.
A. the drive to ensure unity and equity with all people.
B. the ability to think and act according to a scientific process.
C. the ability to identify with and accommodate people who share the same beliefs.
D. the ability to obtain the knowledge to be able to anticipate and predict events in life
Answer Key: D

"If you become a secondhand car dealer you will also become dishonest, since all secondhand car dealers are dishonest people". This statement is an example of ______.
A. a propositional construct
B. a defence mechanism
C. a preemptive construct
D. a constellatory construct
Answer Key: D

With regard to psychological and social wellbeing, the term "social coherence" is defined as ______.
A. a person experiencing the community as logical and predictable
B. a sense of direction towards specific goals
C. establishing conditions which can be managed
D. assisting society in achieving its potential
Answer Key: A

When I explain love as a reaction to someone who has already been assimilated (incorporated into existing schemas) and who strongly supports one’s idea of self, I am explaining it from the perspective of the ______ theory.
A. behaviourist
B. humanist
C. cognitive
D. psychodynamic
Answer Key: C

Sipho is given three tasks (A, B and C) to complete by the end of the day. Sipho goes through the tasks and concludes that tasks A and C are easy while task B is labelled as difficult. The difficult task is completed in the morning while the easy tasks are completed in the course of the afternoon. According to Kelly, which of the following corollaries best describe the manner in which Sipho labelled the tasks?
A. Range
B. Dichotomy
C. Organisation
D. Modulation
Answer Key: B

During an exit interview an employee describes the strong points and weak points of the organisation and his supervisors. Using Kelly's ideas on personal constructs, the employee's perceptions can be explained by the ______ corollary.
A. fragmentation
B. choice
C. range
D. dichotomy
Answer Key: D

The construct that allows flexible thinking as it allows individuals to be included in more than one group at a time is called ______ while the construct that prevents reintegration of new information in order to place individual in only one group is called ______.
A. propositional; range
[bookmark: _GoBack]Correct B. constellatory; pre-emptive
C. pre-emptive; constellatory
D. range; propositional
Answer Key: B

